. AP Calculus AB
No Calculators.
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s -A;P Calculus AB Trig Quiz #2 (Chapter 2)

No Calculators. Leave all answers reasonably simplified
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5. Find the equation of the tangent line to the curve
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+ AP Calculus AB Trig Quiz #2 (Chapter 2)

" No Calculators.
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5. TFind the equation of the tangent line to the curve
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A.P. Calculus AB Trig Quiz #3 o 4/143 (T 7&4/1 /4

NO CALCULATORS! All answers must be justified! Name

I

5 1. Determine whether or not the mean value theorem applies

to the function, f(x) = cosx + x, on [— g, ;—E] If so, find the value(s)

of ¢ as defined in the theorem _
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'5 2. Determine whether or not Rolle's theorem applies to the

function f (x) = cscx on [0, 2nt]. If so, find the value(s) of ¢
as defined in the theorem.
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NO CALCULATORS! All answers must be justified! Name

A.P. Calculus AB Trig Quiz #3 / ;F%f) WA ’4/5 B
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" 1. Determine whether or not the mean value theorem applies = =
to the function, f (x) = sinx + x, on [0, ©t]. If so, find the value(s)
_ ofc as defined in the theorem. {
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3. (continued) Given the function y = 2(x + 1) tanx on the interval (— =5 2) find:
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A.P. Calculus AB
NO CALCULATORS! All answers must be justified!

ult i
6 to the function, f(x) = secx, on [0, 7t]. If so, find the value(s)
of ¢ as defined in the theorem.

Determine whether or not the mean value theorem applies
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Trig Quiz #3 / ;s/? Swli ;; C
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function £ (x) = sinx on [0, ]. If so, find the value(s) of ¢
as defined in the theorem.
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3. (continued) Given the function y = tanx — 2x O'She interval (—— —) find:
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Trig Quiz #3 ;4 nower ﬁ/éé’/a D

N A.P. Calculus AB ,
Y NO CALCULATORS! All answers must be justified! Name {!
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1. Determine whether or not the mean value theorem applies /J/é 55 Al ﬁ«;é:,x g £y

to the function, f(x) = tanx, on [0, z]. If so, find the value(s) y, . Ll
of ¢ as defined in the theorem. b : Hx ) i <
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2. Determine whether or not Rolle's theorem applies to the
function f'(x) = cosx on [0, 2n]. If so, find the value(s) of ¢
as defined in the theorem.
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3. (continued) Given the function y = sinx + cosx on the interval (-x, &), find: \
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N A.P. Calculus AB Trig Quiz #3 / gﬁf)uv@’ ﬂ{,/é/—; h

NO CALCULATORS! All answers must be justified! , Name
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' 5 1. Determine whether or not the mean value theorem applies A/@Q{S o y el
to the function, f(x) = cotx, on [ > ] If so, find the value(s) K
of ¢ as defined in the theorem. b /

§‘5 Determine whether or not Rolle's theorem applies to the C_= T

function f(x) = cosx on [0, 27t]. If so, find the value(s) of ¢
as-defined in the theorem.
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3. (continued) Given the function y = smx cosx on the interval (-, =), find:
E '1)2 2%/ u( C/L?é Ty (- )w(")

" b) the relative extrema
?ﬂr N i A
max: / r) if?!fé,. L" fj&—éﬁﬁ '(:E“Y'}M ‘{» ‘E‘ O ‘

3T (, >
/'f c) the point(s) of inflection: ( 03 O Q’/ . bg ) /‘M = ""p ¢ % L
v U
a U =5 a +esSH - y _
' § i '
- _ < ( 1 i 1
“@M ?4 = 4 o
—2r
K= 4 3
“ v
~Zr T ,,
i) { 'S
7 d) concavity intervals up: ( 9, 4 z\ b / L(j, 70
dovn f-r‘ = u/ 'f"‘) ble "< 0O
’ N
‘-/’// e) Sketch the graph based on your answers to parts a —d
N
2 4 %




